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the Lisbon Agenda

Plan to make the EU ‘the most dynamic and competitive knowledge-
based economy in the world’ , by 2010.

Europe’s relative performance:

• National Income: Output per capita

• Productivity: Output per hour worked

• Employment: Hours per capita

Microeconomic Reforms

Employment Guidelines

Growth and Jobs
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on measurement

Economists use a number of different measurements of national income 
and productivity.

The simplest is GDP per capita.

But we can also think about GDP per worker and GDP per worker hour.

These can be linked as follows:
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microeconomic reforms

The Lisbon Agenda argues that the 
‘knowledge economy’ is vital to the future 
of Europe.

It proposes that the EU should aim to spend 
3 per cent of GDP on R&D.

But EU problems not just in the high-
technology sector.
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employment guidelines
‘Unemployment is high in the four largest economies of Continental 
Europe, namely, France, Germany, Italy and Spain.  Exclude these four 
countries and the famous European unemployment problem more or less 
disappears’, Professor Stephen Nickell.

Not all labour market institutions lead to worse outcomes but some do!

• high levels of benefits paid indefinitely; 

• low spending on active employment policies; 

• high levels of unionisation with little co-ordination of wage 
bargaining ; 

• minimum wages combined with high payroll taxes and high levels of 
unskilled workers.

Active labour market policies along the lines of the Danish ‘flexicurity’ 
model may help.



labour resource utilisation

Labour utilisation is captured by two broad elements.

Labour intensity is the number of hours worked per worker.

Employment rate is the proportion of the population that is in work.

Government policies can affect both of these, for example, by setting 
maximum working hours or by making hiring & firing more costly.
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growth and jobs

Recent European economic performance has been weak.

This is particularly the case for labour utilisation.

But also increasingly true for productivity growth.

Weakness especially in agriculture, manufacturing, distribution and 
financial services.

Strong in utilities, construction, communications.

Suggested Lisbon agenda remedies too focussed on high-tech.

Too little on low tech and job creation.

European workers, especially the unskilled, women, youths and older 
workers need pathways to work.



syndicate topics

What are the relative strengths and weaknesses of French, German 
and Italian industry?

Which labour market rigidities affect hiring and firing the most?

What is the relative importance of the following drivers of productivity 
growth for your industry:  investment, competition, enterprise, 
innovation, and skills?


